NAME: _______________________________

BSAD 183: International Financial Management
Midterm Exam
I. Multiple Choices (40%)
(    D
)  1. What major dimension sets apart international finance from domestic finance? 
	A. 
	Foreign exchange and political risks


	B. 
	Market imperfections


	C. 
	Expanded opportunity set


	D. 
	All of the above


(     D     ) 2. Suppose Mexico is a major export market for your U.S.-based company and the Mexican peso appreciates drastically against the U.S. dollar. This means 
	A. 
	your company's products can be priced out of the Mexican market, as the peso price of American imports will rise following the peso's fall.


B. your firm will be able to charge more in dollar terms while keeping peso prices stable.
C. your domestic competitors will enjoy a period of facing lessened price competition from Mexican imports.
D. both B and C are correct.
(    A     ) 3. Under a purely flexible exchange rate system 
	A. 
	supply and demand set the exchange rates.


	B. 
	governments can set the exchange rate by buying or selling reserves.


	C. 
	governments can set exchange rates with fiscal policy.


	D. 
	answers B and C are correct.


(    A   ) 4. If the United States imports more than it exports, then this means that 
	A. 
	the supply of dollars is likely to exceed the demand in the foreign exchange market, ceteris paribus.


	B. 
	the demand for dollars is likely to exceed the supply in the foreign exchange market, ceteris paribus.


	C. 
	the U.S. dollar would be under pressure to appreciate against other currencies.


	D. 
	The bthe balance on capital account has a negative value.


(      B  ) 5. The balance of payments identity is given by BCA + BKA + BRA = 0. Rearrange the identity for a country with a pure flexible exchange rate regime 
	A. 
	BCA + BKA + BRA = 0


	B. 
	BCA = -BKA


	C. 
	BCA + BKA = -BRA


	D. 
	BRA = -BCA


(     A   ) 6. The foreign exchange market closes 
A. Never

B. 4:00 p.m. EST (New York time).

C. 4:00 p.m. GMT (London time).

D. 4:00 p.m. (Tokyo time)

(     C   ) 7. If you think that the dollar is going to depreciate against the euro and you seek speculative profit, you should 
	A. 
	buy PHLX put options on the euro.


	B. 
	sell PHLX call options on the euro.


	C. 
	buy PHLX call options on the euro.


	D. 
	none of the above


(     A   ) 8. Suppose you observe the following exchange rates: €1 = $1.45; £1 = $1.90. Calculate the euro-pound exchange rate. 
	A. 
	€1.3103 = £1.00


	B. 
	£1.3333 = €1.00


	C. 
	€2.00 = £1


	D. 
	€3 = £1


(    B     ) 9. Suppose you observe a spot exchange rate of $1.50/€. If interest rates are 5% APR in the U.S. and 3% APR in the euro zone, what is the no-arbitrage 1-year forward rate? 
	A. 
	€1.5291/$


	B. 
	$1.5291/€


	C. 
	€1.4714/$


	D. 
	$1.4714/€


(     B     ) 10. The forward market 
	A. 
	involves contracting today for the future purchase of sale of foreign exchange at the spot rate that will prevail at the maturity of the contract.


B. involves contracting today for the future purchase of sale of foreign exchange at a price agreed upon today.
C. involves contracting today for the right but not obligation to the future purchase of sale of foreign exchange at a price agreed upon today.

D. none of the above.

II. Essays/Calculations (60%; you must show calculation work to earn credit): please provide your answers to any combination of 6 questions from the following 7 questions.  If you provide answers to all 7 questions, the answers to the first 6 questions will be graded; I will ignore your work on the final question when you answer all 7 questions.
1. Suppose that the treasurer of Cisco has an extra cash reserve of $100 million to invest for 6 months.  The 6-month interest rate is 8% per annum in the U.S. and 7% per annum in France.  Currently, the spot exchange rate is €1.01 per dollar and the 6-month forward exchange rate is €0.99 per dollar.  The treasurer does not wish to bear any exchange risk.  Where should he/she invest to maximize the return?  What is the return?
2. What is triangular arbitrage?  What is a condition that will give rise to a triangular arbitrage?  Please provide your answer in plain English.  Do not list any equation it here.
3. A bank is quoting the following exchange rates against the dollar (in European terms) for the Swiss franc and the Australian dollar: SFr/$ = 1.6160-70 and A$/$ = 1.6355-65.  An Australian firm asks the bank for an A$/SFr quote in Austrian dollar terms.  What cross-rate would the bank quote?
4. Define the following terms: (a) relative PPP, (b) J-curve effect, and (c) impossible trinity.
5. Suppose that the current spot rate is €0.80/$ and the 3-month forward exchange rate is €0.7813/$.  The 3-month interest rate is 4.6% per annum in the U.S. and 4.4% per annum in France.  Assume that you can borrow up to $1,000,000 or €800,000.  Show how to realize a certain profit, assuming that you want to realize profit in terms of $.  Also determine the size of your arbitrage profit.
6. Adamant Inc. imports French wine.  On November 1st, it bids €62,500 for a batch of rare wine, but it will not know until December 15th whether the bid is accepted.  Nevertheless, Adamant Inc. purchases a €62,500 call option with maturity on December 15th.  The strike price is 1.270 $/€ and the option premium is 0.6 cent per euro.  If Adamant Inc. wins the bid and the euro appreciates to 1.3100 $/€ on December 15th, what would be Adamant Inc.’s total payment (including the cost for the option) in terms of $?  
7. Using the following market data, show the net terminal value (profit) of a long position in two 100 Aug Japanese yen European call contracts when the terminal spot price, cents per 100 yens, is 107.  Note that prices are quoted in American terms.  Ignore any time value of money effect.
	NASDAQ OMX PHLX Options

	
	
	Calls
	Puts
	

	Japanese Yen                                                                                                                                         100.79

1,000,000 J. Yen – 100ths of a cent per unit.

	99
	Aug
	3.40
	1.56
	

	100
	Aug
	2.93
	1.99
	


